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1) narjmWu gd©àW‘ AnZo àíZ nÌ na Zm‘m§H$ A{Zdm¶©V… {bI|&

2) g^r g^r g^r g^r g^r àíZ A{Zdm¶© h¢&

3) àË¶oH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&

4) {OZ àíZm| ‘| AmÝV[aH$ IÊS> h¢, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&

5) àíZ H$m CÎma {bIZo go nyd© àíZ H$m H«$‘m§H$ Adí¶ {bI|&

VU–56–Gen. Science [ Turn Over3057

àí
Z 

nÌ
 H

$mo 
I

mob
Zo 

Ho$
 {

b
E 

`h
m± 

\$
m‹S

>|
`h

m± 
go 

H$
m{Q

>E

Sl.No. :
Roll No.Zm_m§H$

`h
m± 

go 
H$

m{Q
>E



2

3057VU–56–Gen. Science

IÊS - A

SECTION - A

1) ~hþM¶ZmË‘H$ àíZ …

Multiple Choice Questions:

{ZåZm§{H$V àíZm| ‘| {XE JE ghr {dH$ën H$m M¶Z H$a CÎma H$mo CÎma-nwpñVH$m ‘| {b{IE …-

Write the answer in answer - book by selecting the correct option given in the
following questions:

i) hmBS´>moOZ Ho$ g‘ñWmZrH$ 1H3 ‘| CnpñWV Ý¶yQ´>m°Zm| H$s g§»¶m h¡- [1]

A) 0 ~) 1

g) 2 X) 3

Number of neutrons present in isotope 1H3 of hydrogen

A) 0 B) 1

C) 2 D) 3

ii) AÕ©Va§J {Xï>H$mar H$s A{YH$V‘ XjVm h¡- [1]

A) 40.6% ~) 50%

g) 81.2% X) 100%

Maximum efficiency of half wave rectifier is -

A) 40.6% B) 50%

C) 81.2% D) 100%
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iii)                              H$m  IUPAC Zm‘ h¡- [1]

A) 2 - ‘o{Wb ã¶wQ> - 3 - AmBZ ~) AmBgmonoÝQ>mBZ

g) 3, 3- S>mB‘o{Wb àmonmBZ X) 3 - ‘o{Wb ã¶wQ> - 1 - AmBZ

IUPAC name of                             is -

A) 2 - methylbut - 3- yne B) isopentyne

C) 3, 3- dimethylpropyne D) 3 - methylbut - 1- yne

iv) VmnÑ‹T> ~hþbH$ h¡- [1]

A) nm°brWrZ ~) nm°{bñQ>mBarZ

g) nm°{bdmB{Zb ³bmoamBS> X) ~¡Ho$bmBQ>

Thermosetting polymer is -

A) Polythene B) Polystyrene

C) Polyvinyl chloride D) Bakelite

v) {ZH$Q>oÝWg VZo H$s Ag§JV g§aMZm ‘| dëHw$Q> joÌ ‘| nmE OmZo dmbo à{Vbmo‘mZw{nV dëHw$Q>r¶ g§dhZ nybm|
H$s g§»¶m h¡- [1]

A) 2 ~) 3

g) 4 X) 6

Number of inversely oriented cortical vascular bundles found in cortex region
in anomalous structure of Nyctanthes stem is -

A) 2 B) 3

C) 4 D) 6

[ Turn Over
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vi) hëXr (Hw$aHw$‘m bm|Jm) H$m nmXn Hw$b h¡- [1]

A) EonmogmBZogr ~) {OÝOr~aogr

g) nonmdaogr X) {gZH$moZm

The plant family of turmeric (Curcuma longa) is -

A) Apocynaceae B) Zingiberaceae

C) Papaveraceae D) Cincona

vii) {dgaU Xm~ Ý¶wZVm (DPD), namgaU Xm~ (OP) VWm {^{Îm Xm~ (WP) Ho$ ‘Ü¶ gå~ÝY h¡- [1]

A) DPD = OP - WP ~) DPD = OP + WP

g) OP = 2DPD - WP X) OP = DPD - 2WP

Relation between Diffusion Pressure Deficit (DPD), Osmotic Pressure (OP)
and Wall Pressure (WP) is -

A) DPD = OP - WP B) DPD = OP + WP

C) OP = 2DPD - WP D) OP = DPD - 2WP

viii) g§K ‘mobñH$m H$m àmUr h¡- [1]

A) Am°³Q>mong ~) PtJm

g) Ho$H$‹S>m X) {~ÀNw>

Animal of phylum Mollusca is -

A) Octopus B) Prawn

C) Crab D) Scorpion

ix) ‘mZd ‘yÌ ‘| Ob H$s ‘mÌm H$mo {Z¶§{ÌV H$aZo dmbm hm‘m}Z h¡- [1]

A) àmoOoñQ>ramoZ ~) EopÝQ>S>mB¶yao{Q>H$

g) gmo‘oQ>moQ´>mo{nZ X) EoS´>rZmoH$m°{Q>©H$moQ´>m°{nH$

Hormone that controls amount of water in human urine is -

A) Progesterone B) Antidiuretic

C) Somatotropin D) Adrenocorticotropic
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2) {ZåZm§{H$V àíZm| Ho$ {bE [aº$ ñWmZm| H$s ny{V© CÎma-nwpñVH$m ‘| H$s{OE …

Fill in the blanks in answer-book for following questions:

i) EH$ ao{S>¶moY‘u nXmW© H$s AÕ© Am¶w (T) H$m gyÌ  ...................... h¡& [1]

Formula for half life (T) of a radioactive substance is _______

ii) AJ« A{^Z{V ‘| S>m¶moS> H$m à{VamoY ................... H$mo{Q> H$m hmoVm h¡& [1]

The resistance of diode in forward biasing is of _________ order.

iii) nmXn Hw$b - Hw$H$a{~Q>ogr ‘| àm¶… ................... àH$ma H$m ’$b nm¶m OmVm h¡& [1]

Generally ________ type fruit is found in plant family-Cucurbitaceae.

iv) nmXn H$s O‹S> na .................. ‘yb amo‘ nmE OmVo h¢& [1]

__________ root hairs are found on the roots of the plants.

IÊS - ~
SECTION - B

3) A{VbKwÎmamË‘H$ àíZ …

Very short answer type questions:

i) EH$ nwîn H$s AZwX¡Ü¶© H$mQ> ‘| g§aMZm H$mo {M{ÌV H$s{OE& [1]
Draw the structure in longitudinal section of a flower.

ii) htJ H$s A{^bmj{UH$ J§Y H$m H$maU Xr{OE& [1]
Give the reason for characteristic smell of Asafoetida.

[ Turn Over
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iii) EoñH¡$[ag Ûmam ‘Zwî¶m| ‘| CËnÞ amoJ H$m Zm‘ {b{IE& [1]

Write name of the disease caused by Ascaris in humans.

iv) A¾me¶ {H$g àH$ma H$s J«pÝW h¡? {b{IE& [1]

Which type of the gland is pancreas? Write.

v) ‘Zwî¶ ‘| [½+½=1]

A) {H$VZo Omo‹S>r H$nmb V§{ÌH$mE± nmB© OmVr h¡?

~) Za ¶w½‘H$m| H$mo ³¶m H$hVo h¢? {b{IE&

In humans

a) How many pairs of cranial nerves are found?

b) What do the male gametes called? Write.

vi) AÊS>OZZ H$mo n[a^m{fV H$s{OE& [1]

Define Oogenesis.

vii) AmÝV[aH$ {ZfoMZ H$mo n[a^m{fV H$s{OE& [1]

Define internal fertilization.

viii) ídgZ H$s Xa na Vmn‘mZ Ho$ à^md H$mo g‘PmBE& [1]

Explain effect of temperature on the rate of respiration.



7

3057VU–56–Gen. Science

IÊS> - g
SECTION - C

bKwÎmamË‘H$ àíZ …

Short answer type questions:

4) EH$ n[aZm{bH$m ‘| 1000 ’o$ao à{V ‘rQ>a, ’o$ao CnpñWV h¢& Bg‘| 6A {dÚwV Ymam àdm{hV hmo ahr h¡& n[aZm{bH$m
Ho$ ^rVa Mw§~H$s¶ joÌ Ho$ n[a‘mU H$s JUZm H$s{OE? [1½]
[{X¶m J¶m h¡, 0 = 4 ×10–7 N/A2]
1000 turns per meter, turns are present in a solenoid. It carries a current of 6A.
Calculate magnitude of magnetic field inside the solenoid?
 [Given, 0 = 4 ×10–7 N/A2]

5) Hy$bm°‘ ~b H$s H$moB© VrZ {deofVmE± {b{IE& [1½]
Write any three characteristics of Coulomb's force.

6) 2, 3, VWm 4 Ho$ VrZ à{VamoY loUr H«$‘ ‘| g§¶mo{OV h¢& Bg g§¶moOZ Ho$ Hw$b (Vwë¶) à{VamoY H$s JUZm
H$s{OE& [1½]
Three resistances 2, 3, and 4 are combined in series combination. Calculate
the total (equivalent) resistance of the combination.

7) {d^d‘mnr Ho$ H$moB© Xmo Cn¶moJ {b{IE& [1½]
Write any two uses of potentiometer.

8) {dÚwV Mw§~H$s¶ àoaU Ho$ ’o$amS>o Ho$ àW‘ d {ÛVr¶ {Z¶‘ {b{IE& [1½]
Write first and second Faraday's laws of electromagnetic induction.

[ Turn Over
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9) Cƒm¶r VWm AnMm¶r Q´>m§g’$m°‘©am| H$mo n[a^m{fV H$s{OE& [1½]
Define stepup and stepdown transformers.

10) ‘w»¶ ³dmÊQ>‘ g§»¶m H$m dU©Z H$s{OE& [1½]
Describe principal quantum number.

11) Xmo VËdm| [X] VWm [Y] Ho$ {bE na‘mUw H«$‘m§H$ (Z) H«$‘e… 11 d 17 h¢& BZHo$ Bbo³Q´>m°{ZH$ {dÝ¶mg {b{IE&
[1½]

Atomic numbers (Z) for two elements [X] and [Y] are 11 and 17 respectively.
Write their electronic configurations.

12) àmH¥${VH$ VWm H¥${Ì‘ Mwå~H$m| H$mo n[a^m{fV H$s{OE& [1½]
Define natural and artificial magnets.

13) Mwå~H$ Ho$ H$moB© Xmo JwU {b{IE& [1½]
Write any two properties of magnet.

14) {ZåZ{b{IV ‘| go àË¶oH$ H$m H$moB© EH$ CXmhaU Xr{OE- [2× 3
4 =1½]

A) AnyU© Aï>H$ dmbm ¶m¡{JH$

~) àgm[aV Aï>H$ dmbm ¶mo{JH$

Give any one example of each among the following-
A) Compound with incomplete octet.
B) Compound with expanded octet.

15) J«o’$mBQ> H$s g§aMZm H$m dU©Z H$s{OE& [1½]
Describe structure of graphite.
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IÊS> - X
SECTION - D

XrK© CÎmar¶ àíZ …

Long answer type questions:

16) {ZåZ{b{IV A{^{H«$¶mAm| Ho$ amgm¶{ZH$ g‘rH$aU {b{IE- [1+1+1=3]
A) gm~mË¶o goÊS>oaoÝg A{^{H«$¶m

~) dwQ²>O A{^{H«$¶m

g) H$moë~o d¡ÚwV AnKQ>Zr {d{Y

Write chemical equations of the following reactions-

A) Sabatier Senderen's reaction

B) Wurtz reaction

C) Kolbe's electrolytic process

AWdm/OR

{ZåZ{b{IV A{^{H«$¶mAm| Ho$ amgm¶{ZH$ g‘rH$aU {b{IE- [1+1+1=3]
A) EWoZm°b H$m {ZO©brH$aU

~) H¡$pëe¶‘ H$m~m©BS> na Ob H$s A{^{H«$¶m

g) ³br‘|gZ AnM¶Z

Write chemical equations of the following reactions-

A) Dehydration of ethanol

B) Action of water on calcium carbide

C) Clemmensen reduction

[ Turn Over
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17) àmH¥${VH$ VWm g§íbo{fV ~hþbH$m| H$m dU©Z àË¶oH$ Ho$ EH$ CXmhaU g{hV H$s{OE& [3]

Describe natural and synthetic polymers with one example of each.

AWdm/OR

¶moJO VWm g§KZZ ~hþbH$m| H$m dU©Z àË¶oH$ Ho$ EH$ CXmhaU g{hV H$s{OE& [3]

Describe addition and condensation polymers with one example of each.

18) A) emH$mhmar Ord H$m H$moB© EH$ CXmhaU Xr{OE&

~) ‘mZd AÝV… ídgZ à{H«$¶m H$mo {M{ÌV H$s{OE&

g) öX¶ H$s ~mø g§aMZm H$mo {M{ÌV H$s{OE&

[1+1+1=3]

A) Give any one example of herbivorous animals.

B) Draw the human inhalation process.

C) Draw external structure of heart.

AWdm/OR

A) ‘m§gmhmar Ord H$m H$moB© EH$ CXmhaU Xr{OE&

~) ‘mZd {Z…ídgZ à{H«$¶m H$mo {M{ÌV H$s{OE&

g) öX¶ H$s AmÝV[aH$ g§aMZm H$mo {M{ÌH$ H$s{OE&

[1+1+1=3]

A) Give any one example of carnivorous animals.

B) Draw the human exhalation process.

C) Draw internal structure of heart.
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IÊS> - ¶
SECTION - E

{Z~§YmË‘H$ àíZ …
Essay type questions:

19) A) AJ« VWm àVrn A{^{H«$¶mAm| H$mo n[a^m{fV H$s{OE&
~) gmå¶mdñWm na gmÝÐVm ‘| n[adV©Z Ho$ à^md H$mo g‘PmBE&

[2+2=4]
A) Define forward and backward reactions.
B) Explain the effect of change in concentration on equilibrium.

AWdm/OR
A) ^m¡{VH$ VWm amgm¶{ZH$ gmå¶m| H$mo n[a^m{fV H$s{OE&
~) gmå¶mdñWm na Vmn ‘| n[adV©Z Ho$ à^md H$mo g‘PmBE&

[2+2=4]
A) Define physical and chemical equilibriums.
B) Explain the effect of change in temperature on equilibrium.

20) A) ~m°³gmBQ> A¶ñH$ H$m amgm¶{ZH$ gyÌ {b{IE&
~) A¶ñH$m| Ho$ gmÝÐU H$s PmJ ßbdZ {d{Y H$mo g‘PmBE&
g) PmJ ßbdZ {d{Y H$m ñdÀN> {MÌ ~ZmBE&

[½+2+1½=4]
A) Write chemical formula of bauxite ore.
B) Explain froth floatation method for concentration of ores.
C) Draw neat diagram of froth floatation method.

AWdm/OR
A) hmZ© {gëda A¶ñH$ H$m amgm¶{ZH$ gyÌ {b{IE&
~) A¶ñH$m| Ho$ gmÝÐU H$s Mwå~H$s¶ n¥W¸$aU {d{Y H$mo g‘PmBE&
g) Mwå~H$s¶ n¥W¸$aU {d{Y H$m ñdÀN> {MÌ ~ZmBE&

[½+2+1½=4]

A) Write chemical formula of horn silver ore.
B) Explain magnetic separation method for concentration of ores.
C) Draw neat diagram of magnetic separation method.


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